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Directions: 
In  the  following  questions,  a  sentence/  part  of  the 
sentence is printed in bold. Below are given 
alternatives which may improve the bold part. Choose 
the correct alternative. 
 
NOTE: In case no improvement is needed, your answer 
is No Improvement. 
 
1) Many healthy people are been infected by the virus. 
a) are in infection 
b) are having infected 
c) are being infected 
d) were bearing infected 
e) No correction required 
 
2) Mrs. Madhuri has great respect and unlimited faith 
in her Director. 
a) respect and unlimited faith for 
b) respect for and unlimited faith for 
c) respect for and unlimited faith In 
d) respect in and unlimited faith for 
 
3) The government’s focus on achieving growth not to 
control inflation. 
a) being focused on achieving 
b) focus is to achieve 
c) focus of achieving 
d) focusing on achievement 
e) No correction required 
 
4) It is the doctor who suggest new medicines. 
a) which suggested new 
b) who suggestions new 
c) which suggests new 
d) who suggests new 
e) No correction required 
 
5) The U.N.O, insists on better understanding between 
the countries of the world . 
a) among the countries  b) with the countries 
c) by the countries d) No improvement 

 
6) He is addicted to smoke. 
a) addicted to smoking 
b) used to smoke 
c) addicted of smoking 
d) addicted with smoking 
 
7) The teacher was very angry at his student. 
a) angry with  b) angry against 
c) angry about  d) No improvement 
 
8) The workers went on a strike asking for better pay 
and service condition. 
a) requesting.  b) demanding 
c) needing  d) No improvement 
 
9) He evaded to pay income tax. 
a) paying  b) from paying 
c) against paying d) No improvement 
 
10) Conformity to facts 
a) Veracity  b) Deceit 
c) Hypothesis  d) Theory 
 
11) Airline companies pay nearly 25 billion dollars for 
their  right  of  flyover  the  countries  other  than  their 
parent country. 
a) there right to flight 
b) their right to flying 
c) their right in flying 
d) their right to fly 
e) No correction required 
 
12) He doesn’t smoke, nor I did. 
a) nor I smoke  b) nor I do 
c) nor do I  d) No improvement 
 
13) There are two pens here and either write well. 
a) either have written 
b) either wrote well 
c) either writes 
d) No improvement 
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14)  Ramesh  took  charge of  the  project, within  a  few 
days of having appointed ? 
a) appointing 
b) after being appointed 
c) being appointed 
d) having an appointment 
e) No correction required 
 
15) I had given him a lot of money, but he ran up it in a 
couple of weeks. 
a) ran through  b) ran into 
c) ran down  d) No improvement 
 
16) Can you arrange the car to be ready this evening? 
a) arrange that the car 
b) arrange for the car 
c) arrange with the car 
d) No improvement 
 
17) To some extent, every child takes after his father. 
a) off   b) upon 
c) for   d) No improvement 
 
18) He must has change clothes during the night. 
a) have changed 
b) has changed 
c) have changes 
d) No improvement 
 
19) After he arrived from office, he goes to gym. 
a) After he had being arriving 
b) After he had arrived 
c) After he arrives 
d) No improvement 
 
20) May be they has had a fight. 
a) were had  b) was having 
c) were having  d) No improvement 
 
21) The use of irony to mock or convey contempt 
a) Sanction  b) Flatter 

c) Compliment  d) Sarcasm 
 
22) The US economy is present in the face off a serious 
recession. 
a) presently facing 
b) presented on the face of 
c) presently facing up to 
d) having to face of at present 
e) No correction required 
 
23) I am always wondered what it would be like to be 
inside a chocolate factory. 
a) have always wonder 
b) have always wondering 
c) have always wondered 
d) No improvement 
 
24) Setbacks and failures has always been an integral 
part of science. 
a) have always been 
b) has been always 
c) were always been 
d) has always being 
e) No correction required 
 
25) Man is the only animal who can talk. 
a) which  b) whom 
c) that   d) No improvement 
 
26) I did nothing but laughed. 
a) laughed aloud b) laughing 
c) laugh   d) No improvement 
 
27) Excessively lengthy speech 
a) Concision  b) Verbiage 
c) Curt   d) Succinct 
 
28) A number of steps have been taken with a view to 
improving the conditions of the backward classes. 
a) at improving   b) to improve 
c) for improving  d) No improvement 
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29)  We  have  failed  assessment  of  the  advantages  of 
outsourcing our IT operations. 
a) the assessment of 
b) to assess 
c) in not assessing up 
d) in assessment 
e) No correction required 
 
30) Changu is as tall if not, taller than Chanchu. 
a) as tall, if not, taller than 
b) as tall as, if not taller to 
c) as tall as, if not taller than 
d) No improvement 
 
31)  Less  people  came  to  watch  cricket  matches  this 
year, so the gate receipts were lesser than last year. 
a) Many  b) Fewer 
c) Lot of  d) No improvement 
 
32)  They  wanted  to  know  that  we  could  extend  the 
required help. 
a) if we could extend 
b) if could we extend 
c) that we had extended 
d) that can we extend 
e) No correction required 
 
33) If he is fortunately to be successful, you should give 
something back to society. 
a) If you were fortunately 
b) By being fortunate 
c) If you are fortunate 
d) Unless you are fortunate 
e) No correction required 
 
34) He is in want of a reliable servant. 
a) refused  b) needs 
c) declined  d) No improvement 
 
35) They only work when they have no money. 
a) When they have no money, they only work. 
b) they only work 

c) work only when. 
d) No improvement. 
 
36) If he was to decide to go to college, I for one, would 
recommend that he go to Yale University. 
a) Supposing he was to decide to go to college 
b) In the event that he decides to go to college 
c) Had he decided to go to college 
d) If he were to decide to go to college 
e) No change required 
 
37) Exercise is benevolent to good health. 
a) beneficial  b) beneficent 
c) bounteous  d) No improvement 
 
38) The inexperienced trainee accidental turned off the 
lights during presentation. 
a) Accidentally turned off 
b) Has accidentally turn off 
c) By accident turn on 
d) Accidentally turning off 
e) No correction required 
 
39) Economists have predicted that the country’s 
economic growth falls low to eight per cent this year. 
a) fallen lower than 
b) will fall to as low as 
c) fell to as low as 
d) falling as low as 
e) No correction required 
 
40) Except for you and I, everyone brought a present to 
the party. 
a) Exception of you and me, everyone had brought 
b) Except for you and me, everyone brought 
c) Except for you and I, everyone had brought 
d) With the exception of you and I everyone brought 
e) No change required 
 
41) What would you like to do it for your birthday? 
a) to do   b) doing 
c) does    d) No improvement 
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42)  Most  of  the  participating  members  at  the  fair, 
which was organised by the students, were 
Mathematics teachers. 
a) Mathematic teachers 
b) Mathematics teachers 
c) Teacher in mathematics 
d) No improvement 
 
43) Had she been hungry, she would have devoured the 
whole lot of it. 
a) as if she had been hungry 
b) unless she had been hungry 
c) however she had been hungry 
d) No improvement 
 
44) He will be handling the next project since he has 
vastly experience in this business. 
a) A vast experiencing 
b) Vast experience 
c) Vastly experienced 
d) The vast experience 
e) No correction required 
 
45) I would love to come to your party! Thank you for 
invites me. 
a) invited  b) invite 
c) inviting  d) No improvement 
 
46) The sword of Tipu Sultan was recently brought at 
anauction by an Indian for Rs. 2 crores. 
a) bought at a  b) bought in an 
c) brought In an  d) brought in a 
e) No correction required 
 
47) By this time tomorrow, I will reach my home. 
a) will be reaching b) shall have reached 
c) can reach  d) No improvement 
 
48) What does it matter most is the quality of the goods 
that we require. 
a) What it matters more 

b) What does it matter more 
c) What matters most 
d) No improvement 
 
49)  She  glanced  back  to  make  sure  she  wasn't  to  be 
observed. 
a) wasn't be  b) weren't being 
c) wasn't being   d) No improvement 
 
50) Why should we bothered? 
a) bother  b) bothering 
c) to bother  d) No improvement 
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